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The maximum weight lifted by 750
participants are recorded and it is
found that the Mean and the
Median of this distribution are
both more than the Mode. If the
Mean and the Median are 184 kg
and 178 kg respectively, then

which of the following is the most
likely value of the Mode (in kg).

750 AfaHTl gRT SO/ T Aftead
IR g9 f&ar a1 3R g8 urr ™ f$
39 fadavor &1 Arg iR Hiftgsr SFI
sgad 9 e T IR "AEm SR
HfegdT HHS: 184 fhur 3R 178 fHu
g, @ 1 9 91 1 9gde FT He™
THIfad 99 ' (feur #) |

(a) 168 (b) 172
(c) 162 4166



A tent is cylindrical upto a height
of 6m and conical above it. The
diameter of the base is 90m and
the height of the conical part is 28
m. What is the area (in m?2) of
canvas used in making it?

TP d9 6 HIieX B HAg dP PR
IR SHD FWR TWIR 2| AR DI
A 90 #Hiex IR IFREBR 41T

G|
$dlg 28 HIeX 8| 39 ¥9H H "N

\ / g?ﬁ-‘f DI BT A% (Wiew #H) @&
—_ Xe;) 2905t )()2395::

)@ 2940n  4df 2925n




(a) 8 days dk)".‘) days

(c) 12 days

(d) 10 days

X and Y can complete a certain
work in 18 days and 30 days
respectively. Z is 50% more
efficient than Y. Z and Y started
the work but both had to leave
after 4 days. The remaining work
was completed by X with the
assistance ol P in the next 4 days.
P alone can complete the original
work in

X 3R Y s fAf¥=a &3 & Has 18
feT 8k 30 Al # @ &R WHd B | 2z,
Y ¥ 50% 310 ® T 8| Z IR Y A 1
TS fohar afda S o 4 AT & 919
S BIeAT UST| Y & X gRT P &1
e ¥ 3Tl 4 fa9F § @ foan
TAT| P 3(Hall P Pl fhad 99
H ORT P Hhal 37



ABCDEF is a regular hexagon and
m(BE) = 14 cm. What is the
perimeter of the hexagon?

ABCDEF U& fHafid weqa @ 3R
m(BE) = 14 99! 7| YHW &7 URAY
T 87

(a) 48 cm (b) 30 cm
2 cm (d) 36 cm
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The graphs of the equations
3x -2y - 11 =0 and x +y =7

/—'mgg%?t P (a, B) . W&t is the
2z value of (3a+58)? .

J IS¥10
\df-'z '\‘:I"ﬁWSxTZy-11=03ﬂ'\’x+y=

7 @ ATeIG P (o, B) R U8 oA & |
(30.+5p) BT 91 fam 87

(a) 11 (b) 23

‘)el 25 (d) 13

©



deep. The soil taken out of it is

ankment. What is the width (in

Y= .)-((\ eSO @ial ol 8| 39 W @)
C

ST 8| deey @ drerg (Hex ®) @

A well of radius 2 m is dug 16.8 m
spread evenly all around the well
\'u form a 48 cm  high

L Xlw: (xﬂ)'x of the embankment?
2 Hex few 71 1@ B3l 16.8 HIcX
A2 P et @1 ¢ & IRF AR T Y
HATHY 48 THI HoT desy 91T

?

(a) 8 LT 10

(c) 9.6 (d) 8.4



T If (x + 1) : (x + 5) = (x + 17) :
(x + 53) then what is the mean
proportional between (x + 5) and

- ?

1Tfalzv.:+1):(1li:+5|::(:ez+1’7):

_ (x+53) 8 M (x+53dANOx-1)d
ﬁ""‘?f 19 AU R 8 W8l x > 0 87

(a) 102  (b) 342

JZ?\—{ © 413 44
1)3
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Qum= Q084232

~4Yo
(a) 16.7
_lcr15.2

(b) 13.5
(d) 14.8

If 12 is subtracted from each of n

of the res , I8
is subtracted from of the n
values, then sum of the
numbers is 208. What is the mean

e —

of the given n values? (Give your
answer correct to one decimal
place.)

I n AFN x1, %2, ..., Xn, H TAD H
¥ 12 ST Y, ar gRum e
®T AT 92 BIAT 8| AT n 91 H TP

d ¥ 8 UCHT WU, df SR &1 I
208 2| fU T n & #FAl &7 AEH?
(37T JTR S¥HE P Ud W TR Hal

i)



The area of a square is 81x2 + 72x
+ 16. Find the measure of each
: 2 square, where x > 0.

waﬂmm x2 + 72x + 16 B |
aﬁﬁmw%—aﬁm

Wel x>0 B
@9x+2  (b) | %+
2
Vézﬁm (d)29—3+1
2 4

S



If assumed mean, a = 142.5, di = x;
- a, fi = frequency of x;, the i-th
value, ) fd = 130.5 and ) f, = 90

then find the arithmetic mean of
all the values of x;.

I Pfeud AT a = 142.5, di = xi - a,
fi = x, @ ORI, i1 99, ) fd, =
130.5 3R ) f,= 90 B, & x & WA
A BT GHIGR AT ST HITOTY |

(a) 143.5  (b) 142.95

(c) 143.3 \_idf 143.95

0



A certain sum was invested at 40%
p.a. compound interest for two
years and the interest was
compounded annually. If the
interest was compounded half-
yearly, the amount payable on
maturity after two years would
have been Rs. 4,544 more. What
was the sum invested?

vep AEa Jee & <1 auf & forg
40% ufd 99 =THglg <™ W faw
foar Tar o QIR «or aiffes U 9
gafora fear war em afe s
f—aiffs wu | |G &ar, ar «
99 & 91 Yoiar R g fAseE 4,544
oY Sfftra srar | faer far T JerE
fpa=r o?

(a) Rs. 37,500 (c) Rs. 42,500
(b) Rs. 42,000 _(dy'Rs. 40,000



A man on a cliff observes a boat at
an angle of depression of 30°
which is approaching the shore to
a point exactly beneath the
observer, at a uniform speed. Ten
minutes later, the angle of
depression of the boat is found to
be 60°. Find the total time taken
by the boat to reach the shore.

ge{ R Gl Uh A U A9 &I 30°
D JTAHT DIVT TR @Al 8, W PR
3 IR v AT 1fa 9 Jee B S
a0 Rerg fdg o= o & 81 <9 fAme
® 91, A9 DT AT DIV 60° @l
Wrar g1 9 gRT IR W ug=q |

ferar sranr g1 wwa S IR |
m minutes (b) 16 minutes

(c) 18 minutes (d) 14 minutes



From a rectangular metallic sheet
of length 36 cm and breadth 16

cm, three circular plates of radii 6
cm, 4 cm and 2 cm are cut out. If
the area of the remaining part of
the metallic sheet is equal to the
area of the square, then find the
length of the each side of the

square (in cm). (Use n = 22/7)

36 Al wdl AR 16 |H T [P
AATHR G1g P A | 6 T, 4 A
IR 2 9N Browr & IF TR @i
HIEI STl B IS og1g o Me & Ay
HRT &1 83 (S I & &Ibad D
§RIER B, A 9 DI TAD oIl Bl el
(@H #) s DY (= 22/7)

(a) 18.6 (b) 18

(c) 19.4  \Uu#H20
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In an equilateral triangle of side

2\/5 cm, a circle is inscribed
touching the sides. What is the
area of the remaining portion of
the triangle?

2./3 Al P oIl 9T Tb |HaTg
& FAd TS g9 GiEr rar g, ol
Prast @ qomel & WY &Rar B
Pe & 9y 99 8 &1 83%d

27
(a) (2J§ - It) square cm @
L/u;rrsﬁ - It) square cm

(c) (4J§ -2mn) square cm
(d) (4\/5 - ) square cm



The age of Q exceeds the age of P
by 3 years. The age of R is twice
the age of P and the age of Q is
twice the age of S. Further, the age
difference of R and S is 30 years.
What is the sum of the ages of P
and Q?

Qaﬁmpaﬁmﬁsa&mﬂm%l
R & 3 P &I MY & I & 3R Q
aﬁang S @ I ¥ I B THD
R 3R S @& MY $T 3R 30 I
%lpaﬂvqﬁa@wa‘mwﬁ?

(a) 35 years (b) 38 years

(c) 39 years \9}’6 years



Consider the following numbers:

?<i. 437 19R LR

3. 797
)(3.{2?3-——9:E9)(?54'

How many of the above numbers
m are prime?
- fr=feRea Gl w faar $ifo:
,fikyﬁl- 2, TOT

3. 1073
SWRIGd &gl # fha-l ST 3Ty
a7

\Jm one (b) Only two

(c) All three (d) None




A chord of length [ of a circle

makes an angle 90° at the centre
of the circle. What is the area of
the minor segment?

fodl o0 A ‘¢ dER B TP ofiGl, g9
® dg T 90° P IV g1 2|
12 1 l*

@ Glm-g) ® 5ln-3

PR
4(2 22 2
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cosO

= 2
What is \/[ 1+ minb
cosO

1 + sin®

equal to, where 0 < 9 < —

1+ sin® 2+
cos0O
T 8, SEf 0< @ < g?

(a) tan© (b) cot©
AC 2tan®  (d) 2cot®

cos® |’
1+ sin@

-~

Lz

QL_S

)

feberen



What is the largest number which
divides both 232~ 1 and 221 - 1?

235 — 1 3R 291 - 1 S oI fwifora
B ATl GaY g8 &I T 87

(a) 34 (b) 90

Vuﬁm (d) 129

2%~ |



(a) Rs. 600 um{s. 650

(c) Rs. 500

(d) Rs. 700

A person invested some amount at
the rate of 12% per annum simple
interest and another amount at
the rate of 10% per annum simple
interest. He received vyearly
interest of Rs. 125 from both the
investments. But if he had
interchanged the amounts
invested, he would have received
Rs. 3 more as interest. How much
did he invest at 10% per annum
simple interest originally?

Uh ARh 4 HP RN 12% ufa a9
AR &1 DI &R F AR T Ry

el AT BT, AT SY A9 & BU H 3
S0 AR Ao | S99 o U | 10%
ufd af grmRer | W fhaar A



Two equal circles, each having a

radius of 24 cm, intersect each

other, such that each passes

through the centre of the other.

The length of the common chord is
cm

3 ¥ ga, R | ude @ B
24 9l B, U6 T DI TH TSR
gfrees Hvd 5 fb Td T TR D
o5 9 X YoRdl 8| SHAMS oiar
EQRC LI o B |

(a) 3043 (b) 3642
(243 (d) 3673




In an election between two
candidates, 65% of the voters cast
their votes, out of which 3% of the
votes were decided to be invalid. A
candidates got 81965 votes which
are 65% of the total valid votes.

.6{ What is the total number of votes
8 |G| x lch lev lefo enrolled in that election?

a4l SHIGARI @ 919 U g9 H, 65%
65 9t 6% AT 3 Y W <1, R @ 3%
A4l @ M B BT Ao form |

Uh SHIAR Bl 81965 #d fAdl il
]:) 2 Hd Y HAl BT 65% B| SH FAE H
-§$ ::2{. fa #dl o HoT AT T 87

| (a) 200000  (b) 190000
(c) 215000 (d) 185000
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A faulty weighing machine reads 1
kg when 900 gm is actually
weighted on it. The shopkeeper
marked the price of his goods by
10%, but unfortunately he was
caught by  the metrology
deparment and then they ordered
him to repair his weighing
machine and gave punishment to
sell the goods at 10% discount on
cost price for a month. If each
customer is now paying Rs. 20 for
1 kg, then before the raid
amount they have paid for the
same quantity. (Rounded off to two
places of decimal)




10, ¢ P & QU et w1 el el @
Qﬁ—}i—x-l—’—"-‘-—'—x_’g Waf avdd ¥ 99 W 900 U a9
3 | I =l “am 2 A AW WHH B

1|0 P 10% ,3fdd @I, fed A |
a8 WEIaml [QURT g§RT Udel T 3R
fhr 9=BM S Ul did FeiE @

T 1 B ey f&ar 3R @

29 g-ﬁb&P__,%\ TN @ U $7 T W 10% B W
9EE 999 @ 9o of| 3t ul®

\6__3Q? Ued 39 1 fdell & fov 20 T @7

(c) Rs. 28.05 (d) Rs. 28.15 w‘{ﬂﬁﬁm')



Find the perimeter of major sector
of a circle of radius 12 metres,
whose minor sector subtends an
angle of 75° at the centre.

12 HicR B0 9 U6 99 @ 99
Proags &1 uRem ga ifog, e
BIEl Pou@e dg W 75° H1 DI
1T B |

(a) 24 + _5_5_ metres

124 + 191t metrti/
c) 24 - 5n metres

6 70:1] 24 - 19t metres




The value of

(x-y) +(y-2) +(z—-=x)

(xz _yz)a +‘Y2 _zz)a +‘zz _xz'a

)( where x # y # 2, is:
XN (x-y) +(y-2)° +(z - x)°

(xﬂ _yﬂ)ﬂ +‘y2 _22)3 +‘z2 _32'3
9 T 8, Oel x#y # z &
(a) O

1

C s

1

A ey raEea

(d) 1
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A merchant marks up the price of
his goods by 40% more than the
cost price. He then sells 1/5% of
his goods at a discount of 10%,
half of the goods at the marked
price and the rest of the goods at a
discount of 20%. Find his profit
percentage.

U TR 39 |HH BT o9 Hd T
H 40% At sifdd wxar g1 B T8
YA M BT 1/5 4R 10% & BT
W 9Tl 8, AT JHHE Sifbd oI W
3R 99 HFHF 20% B BE W 99T 2 |
SHPT A e S S |

(a) 20.4%  (b) 30.2%

/
@ e 28.8%  (d) 14.6%



